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g |® K B &£ A B E mYm 9.0 9.1 90l] 3 » #= # W ® A % 353, 803 381,923 390, 411
B #® Kk A mo A 4,630 4,601 5730] | 15 ®ROO®E B OB betht] 2,252,822 2,288, 940 2,087, 900
—A #® P g m3 642, 239 622, 765 7,08| |16 # K & OB O# B 9,385, 923 9,171,748 8,774,963
2wy #®w ook R =1 105, 823, 300 101,778, 700 129, 281, 000 (fE5KE) dedtrn
AR #®o® B fE M 164.8 163.4 166. 4
W | kE #®w ok B @ M 271.5 286.7 286. 3
m3 5 5 @& X & 2] 32.5 31.4 29.4
Hy 5 5 # 5 & M 9.3 9.6 7.5
A i3 a #a 5 # 4.7 4.8 3.9
AL % 1 £ B 16.5 15.6 15.1
I°%: o) 5 0.1 0.0 0.0
(%) % & % 0.5 0.5 0.6
#“ R % ke = 122.3 120.0 120.7
Ml ow o owm o om ox ok o® 8.6 84. 1 82.4
ﬁ ¥ % B X k= 108. 1 103.2 106.6
E f &% B oz ORA M B 2 68.8 7.6 7.4
o I— W A # 5 = 5.6 5.9 45
¥ 3
Flow = % 1 #l B 19.7 19.2 17.7
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(S S - S -1 =] A 74,810 74,960 75,223 u ’ 2 % I F I # 0 0 0
B O# K o B 1,644 1,644 1,644 5 ® A & 23,315 24,010 20, 531
B O # K o ¢ 1,066 1,020 97| | ma | 2 # # A b 41,817 46,148 39,868
& £ CA % 1.4 1.4 1.3 R B & # 5 6, 285 5,923 6,934
& £ B % 64.8 62.0 60.0 wl 2 R I T % 0 0 0
& P B Pl m3/B 778 778 8l | % 5 A # A 13, 465 12, 300 11,102
1B B K B Ok B m3/B 760 721 822 3 F OE i R #  ab=c A 1,024 A 5,319 A 2,276
1B T o8 B Ok B m3/8 469 448 af [ | 4 A M I A d 49,158 48,545 43,511
1T A1 B 98Ok E % 318 319 351 " 5 & E & 0 0 0
Mo® Bk B m3 171,805 163,477 173,600| | * ® A & 38,905 41,870 41,849
Mo#® A W ok B m3 123, 885 118,913 16274 lew| 5 & X m x H e 48,842 48,538 42,895
£ & Kk £ m3 10 10 10 [ |3 B o8B ® B & 14,937 13,468 5,579
H 2 X H 2 756 756 756 & % @& @ ® 2 33,905 35,070 37,316
i %
- 72 & H 2 86 86 86 6 w o x = 3 d-e= f 316 7 616
£ & £ A B H26.4.1 H26.4. 1 Ho6. 4.1 | 7 w % ® = 3l cf=g A 708 A 5,312 A 1,660
" B @ B OE OB OB B A 1 1 || s it i & h 0 0 0
#OA B OE OB OB % A 0 0 ofle B EE» S OB B S i 855 147 35
. E R % A 1 1 o w1 & £ 8 £t x A 2 j 0 0 0
S iz = % 72.1 72.7 72.7| | 11 B W X g-heizj=k 147 A 5,165 A 1,625
w % M OB % % 60.3 57.6 61.2| |12 2ZEE BB R EHE I 0 0 0
= B X B S % 97.7 93.4 105.7| | 13 £ B W % k=1=m 147 A 5,165 A 1,625
a # = % 61.7 61.6 57.9| |14 % £ E 8 A & & § 62,220 65, 880 62,380
g |® K B &£ A B E mYm 4.9 4.7 5ol 5 5 &£ £ ” @& A & 23, 684 23,685 24,209
Ba # Kk A mo A 1,066 1,020 97| | 15 ®ROO®E B OB bre+hej 90, 659 94, 686 82,763
—A #® P g m3 123,885 118,913 126,214| |16t K & B £ B 378,042 348,172 312, 655
R [ S S - m 17, 358, 000 16, 760, 000 17,031, 000 (B ZKE) BRI
AR #®o® B fE M 140. 1 140.9 134.9
W | KE #®w ok B @ M 611.2 683.0 611.2
m3 5 5 @& X & M 108.7 103.4 87.9
Hy 5 5 # 5 & M 50.7 49.8 54.9
£ B A # 5 % 15.0 12.8 17.4
373 % R £ B 32.2 26.7 21.8
I°%: b)) 5 9.6 7.4 1.0
(%) % & % 0.6 0.5 0.8
#“ R % e = 97.6 88.5 94.3
L I S R S S - 53.9 50.3 487
ﬁ ¥ 0% W X k= 61.6 49.7 59.3
z f X & T M@ OE & 272.9 282.6 284.3
o — W A # 5 % 36.2 35.3 40.7
¥ 3
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Hixg & /4 bl FifEH SR EMETHES 0 9 — 1
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5 % M ® £ B 8 WR128527 18 N TR mm 28%E 2055
1 % )'d oY a 11,220 12,642 10, 304
B4 B 21 % 285 F 294 E 0 ~ * & i A 3,191 3,323 3,662
1T B =3 b4 A A 70, 599 70, 183 69, 861 & ’ 2 it I = i o 0 0 0
H [c3} #* 7k A B 570 580 570 ® 1@ A 4 7,979 9,145 6, 600
i) T #* 7k A C 447 428 403 # 2 % & A b 8,029 8,051 10,515
= £ C/A % 0.6 0.6 0.6 _ )3 8 #* 5 0 0 0
L[R 2
= #£ /B % 78.4 73.8 70.7 2 it s S & 0 0 0
5] K B il m3/8 340 430 340 * ® h F B 641 483 318
1 B & XK B K =2 m3/8 302 340 306 3 £ OE O R % a-b=c 3,191 4,591 A 211
1 B ¥ # B K 2 m3/8 211 215 227 ) 4 X M IR A d 1,792 1,871 1,953
1 A1 B ¥ 19 # kK & 34 425 464 507 A 5 & ES ® 0 0 0
5] E2S [i%] K = m3 77,284 78, 341 82,837 * 1@ A 4 1,792 1,87 1,953
M #®% & W XK £ m3 69, 547 72,518 74,554 # 5 E A M X W e 3,583 7,673 3,907
# X Kk B m3 30 30 0| 4y | 3 2 B ® B B 0 3,932 0
# E- x # & 540 540 540 & ES ® 1# b 4 3,583 3,741 3,907
& %
% i i@ # & 32 32 32 6 ) 53 = El d-e=f A 1,791 5,802 1,954
®= ® & A B H26.4.1 H26. 4.1 H26.4.1 7 g 53 B = Ell ctf=g 1,400 1,211 2, 165
® B &% #H E OB & % A 0 0 0 8 15 v 3 h 0 0 0
E X BH T B B % A 0 0 0 9 BWOEE NS DR B S i 4,492 5,892 4,681
= £ B 4 A 0 0 0 10 BMOE E B L x A 2 j 0 0 0
Eo] i = % 90.0 92.6 90.0 1 i = ) b3 g-h+i-j=k 5,892 4,681 2,516
)i B F A = % 62.1 50.0 66.8 12 BEEICHRBT R EHR | 0 0 0
= = X % = % 88.8 79.1 90.0 13 = = 4z b3 k=I=m 5,892 4,681 2,516
a i = % 69.9 63.2 74.2 14 L £ E B AL &G 9,77 11,016 8,553
i~ B Kk & £ B o = m3/m 3.6 3.6 3.8 5 B 2 £ KN B A 2 2,112 2,112 2,112
-4=1 #® 7k A A A 15 R " 2] ® b+e+h+j 11,612 15,724 14,422
—A #® K = m3 16 Hh A & B O£ & 16, 147 12, 405 8, 498
A ay ® ok m o#® A/ (ERKE) R
Hix f#t #® B i} = 45.9 45.8 49.1
I K& #® 7k R i} = 167.0 162.6 193.4
1m3 b 5 & X # A 9.2 6.7 4.3
E) P) 5 #® 5 # = 0.0 0.0 0.0
A m A #® 5 % 0.0 0.0 0.0
i 404 * h F B 8.0 6.0 3.0
HE o)) bl 27.6 19.2 16.7
(%) E:o & & 3.6 3.4 3.1
# i x 24 = 139.7 157.0 98.0
l ow o3 wm om ox o O® 9.6 107.2 7.4
% ) * i *x 4 = 43.8 46.1 36.2
z f T ¥ @& xt M #E FE £ 132.4 127.1 115.4
[ m A #® 5 & 0.0 0.0 0.0
¥ 3
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5 % M ® £ B 8 B3I 438248 N TR mm 2857 2055
1 ®oow i a 72,618 74,252 108, 151
& B 214 284 29[ e H 3 iz A 37,638 38,264 39,386
OB OE & a} A 24,385 23,976 23,554 " i 2 % I F I # 0 0 0
HOoE # K =] B 7,706 7,706 7,706 K ® A & 29,180 30, 056 63, 020
B O£ # K =] ¢ 5,080 4,931 4172| [ m | 2 [CI A b 66, 552 72,467 104, 991
& £ A % 20.8 20.6 20.3 R B A # 5 23,569 23,903 24,709
& £ B % 65.9 64.0 61.9 wl 2 E I ¥ # 0 0 0
& * B 5 m3/8 3,273 3,273 3,213 | % K 1 # B 1,839 1,647 1,452
1B B K B Kk B m3/8 1,923 2,224 3,270 3 £ OE # B #  abc 6,066 1,785 3,160
1B T & B OK B m3/B 1,662 1,780 2050 [ | 4 & M o A d 13,199 16,502 12,189
1A 1 BT BB OKE % 269 278 292 . 5 & ES 1 0 0 0
Mmo# B Ok B m3 608, 225 649,618 748,079 | * ® A & 8,820 11,944 6,880
Mo® " I Kk 8 m3 500, 724 499,718 508375 [ | 5 & X m x e 16,711 15,800 16, 596
x X Kk B m3 10 10 10 [ |3 B B ® B & 12,179 11,077 12,077
H x X #H 2 1,134 1,134 1,134 & ¥ @ O ®m o2 2 4,532 4,723 4,519
i %
- B B #H % 129 129 129 6 R % £ 3 d-e=f A 3,512 702 A 4,407
= i £ A B8 H26. 4. 1 H26. 4.1 Hoe.4.1| | 7 ® % B = 3 cHf=g 2,554 2,487 A 1,247
" B % BH T B OB X A 3 3 3l e i i & h 2,703 2,554 0
2 K # ® OB OB X A 0 0 ol wEE» > 08B B E i 2,685 2,535 2,468
. E # A 3 3 Ao mEE®R xRS j 0 0 0
) iz E: % 82.3 76.9 68.0] | 11 [ S B g-heizjk 2,536 2,468 1,221
w B M A = % 50.8 54.4 626 |12 BEEICHRBT R EHE I 0 0 0
2l 8 x = E: % 58.8 67.9 99.9] | 13 = B B % k-I=m 2,536 2,468 1,221
fa #" E: % 86.4 80.0 627 |14 = &£ E 8 A £ & F 38,000 42,000 69, 900
g |® K B &£ A B E mYm 6.2 6.6 60| 3> 5 &£ £ mg A 2 3,198 3,198 2,998
BA #® K% A B A 1,603 1,644 1,501] | 15 R OO®E OB OB bre+ht 85, 966 90, 821 121,587
—-A #* * 2 m3 166, 908 166,573 169,458 [ 16 # K & B £ & 54, 455 49,732 45,213
B my #®wook R =] 12, 546, 000 12,754, 667 13,128, 667 (i 5KE) LHERH
B # #®m B ] 75.2 76.6 71.5
e | kE #®wok B ] 142.0 154.5 215.4
1m3 5 b5 & & & 2] 3.7 3.3 2.9
Hy 5 b # 5 # ] 4.1 4.8 48.6
%M B & #® 5 # 35.4 33.0 23.5
R % 1 # B 2.8 2.3 1.4
:2:4 B Pl 10.7 8.7 6.4
(%) E ) # 2.5 2.2 1.4
# iz * 2 = 109. 1 102.5 103.0
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[ m A #® 5 & 62.6 62.5 62.7
¥ 3
Flow = X o A B 4.9 4.3 3.7
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7 R K =] A 33,112 32,692 32,152 " ’ g R I ® W # 2,175 8,145 7,799
B O#® K o B 15, 230 15, 230 15, 230 5 ® A & 85, 500 74,018 83,888
B O # K o ¢ 12,207 12,040 1,944 [ 80 | 2 #“ # A b 324,053 319, 380 338, 466
& £ A % 36.9 36.8 37.1 R B & # 5 36,763 36,210 37,750
& £ B % 80.2 79.1 78.4 wl 2 K I T % 0 0 0
& x B Pl m3/B 6,222 6,222 6.222 | % 5 A # A 50, 661 48, 254 45,923
1B B K B Ok B m3/8 4,893 5, 956 6,035 3 £ OE f R #  ab=c A 2,225 A 3,259 A 16,653
1B ¥ ¥ B Ok B m3/8 4,465 4,522 ass1f [ |4 A M I A d 338, 457 389, 674 555, 080
1A 1T B 98Ok E % 293 289 294 " 5 © E & 160, 900 182, 600 294, 700
Mo® Bk B m3 1,634,143 1, 650, 365 1,770,683) | * ® A & 132,863 146, 182 153, 412
Mo#® " W ok B m3 1,310,583 1,268,107 to8t51flew| s & X m ox oW e 334,042 387,223 539, 838
£ & Kk £ m3 10 10 10 [ |3 B 8B ® B & 216,371 263, 883 413,781
H 2 X H 2 1,188 1,188 1,188 & % & @ ® 2 117,671 123,340 126, 057
i %
& 72 & H 2 172 172 172 6 w o x = 3 d-e= f 4,415 2,451 15, 242
£ & £ A B H26.4.1 H26.4. 1 Ho6.4.1| | 7 w % ® = 3l cf=g 2,190 A 808 A1 81
" B O B OE OB OB B A 6 6 6| 8 bid s & h 0 0 0
# A B OE OB OB % A 0 0 ofle B EE S OB B S i 500 2, 690 1,882
. E % A 6 6 of[10 o & 8 £ x @2 j 0 0 0
S iR S % 80.2 76.8 72.4) | 11 F 7 T S 3 g-heizj=k 2,690 1,882 an
w % M OB % % 7.8 72.7 80|12 BEE-RBT R EHE I 2,190 0 0
= B X B S % 78.6 95.7 97.0| | 13 = ® W % k=1=m 500 1,882 an
a # = % 91.3 75.9 8.4/ [ 14 = & E B A & & % 218, 363 220, 200 237, 300
g |® K B &£ A B E mYm 1.6 1.8 el 5 5 £ £ K @& A & 88, 827 95,395 90, 865
B #® Kk A mo A 2,035 2,007 1,91| | 15 ®ROO®E B OB betht] 658, 095 706, 603 878, 304
—A #® P g m3 218, 431 211, 351 213,585/ | 16 # A FE B £ & 2,557,005 2,616, 265 2,784,908
2wy #®w ook R M 38,810, 000 38, 468, 167 38,134,333 (A 5KE) B
AR #®o® B fE M 177.7 182.0 178.5
W | kE #®w ok B @ M 337.0 349. 1 362.5
m3 5 5 @& X & 2] 38.7 38.1 35.8
Hy 5 5 # 5 & M 28.1 28.6 2.5
%A B A # 5 % 1.3 1.3 1.2
AL % 1 £ B 15.6 15.1 13.6
I°%: o) 5 45 4.1 48
(%) % & % 0.5 0.4 0.4
#“ R % ke = 99.3 99.0 95.1
Ml ow o owm o om ox ok o® 72.9 7.4 69.3
ﬁ ¥ % B X k= 85.5 85.5 78.5
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¥ 3
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1B B K B Ok B m3/B 4,677 3,611 4,387 3 £ OE i R #  ab=c 12,718 6,157 42,377
1B T o8 B Ok B m3/B 2,648 2,747 soef [ | 4 A M I A d 178, 649 160, 369 65,213
1A 1T B 98Ok E % 586 568 628 " 5 & E ® 105, 000 97,800 33,700
Mo® Bk B m3 969, 231 1,002, 598 1,166, 380| | * ® A & 73, 649 62,569 31,513
Mo#® A W ok B m3 750, 052 716,716 786,00 s | 5 & x m %= e 174,630 157,944 103,538
£ & Kk £ m3 10 10 10 [ |3 B OB ® B 114,692 95,770 38, 353
H 2 X H 2 1,296 1,296 1,242 & % & @ ® 2 54, 608 56,818 59, 802
i %
- 72 & H 2 118 118 129 6 w % = 3 d-e= f 4,019 2,425 A 38,325
£ & £ A B H26.5.1 H26. 5. 1 H29.5.1| | 7 w % B = 3l cif=g 16,737 8,582 4,052
" B O B OE OB OB B A 3 3 3| s bid s & h 10 15, 144 11,438
#OA B OE OB OB % A 0 0 ofle B EE» S O® B S i 2,908 19, 636 13,072
. £ B B % A 3 3 1o w5 & £ x A S j 0 0 0
S iz = % 77.4 7.5 67.4| | 11 F7NE S S g-heizj=k 19, 635 13,074 5,686
w % M OB % % 73.4 64.5 0|12 BEECRBT R EHE I 1,000 0 0
= B X B S % 129.6 84.8 103.0 | 13 £ B W % k=1=m 18, 635 13,074 5,686
a # = % 56.6 76.1 2914 2 & E®BA S A G 73, 649 62,569 48, 487
g |® K B &£ A B E mYm 22.2 2.7 64| 5 5 # £ W @& A % 31,430 29,943 44,108
Ba #® Kk A mo A 1,166 1,153 1,144 | 15 ®RO®E B OB betht] 268, 057 273,392 210,515
—A #® P g m3 250,017 238, 905 262,07 |16 # A & B £ & 1,173,004 1,213,986 1,187, 884
A my #®w ok R =1 34,801, 667 33,201,333 38,791, 000 (A 5KE) R
AR #®o® B fE M 139.2 139.0 148.0
W | kE #®w ok B @ M 197.4 219.2 197.6
m3 5 5 @& X & 2] 34.5 34.6 29.6
Hy 5 5 # 5 & M 32.5 31.3 2.9
£ B A # 5 % 26.1 22.4 2.7
373 % 1 £ B 21.7 24.7 24.9
I7%: b)) 5 15.5 12.4 16.4
(%) % & % 1.6 1.4 1.7
#“ R % e = 113.6 106. 1 144.4
Ml ow o owm o om ox ok o® M7 67.8 8.8
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¥ 3
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HOoE # K =] B 8,941 8,941 8,941 K ® A & 45,985 31,236 24,747
B O£ # K =] ¢ 7,387 7,299 7,143| | wa | 2 [CI A b 130,527 119,389 112,549
= £ CA % 4.7 4.9 4.6 R B A # 5 10,196 14,148 11,021
& £ B % 82.6 81.6 79.9 wl 2 E I ¥ # 0 0 0
& * B 5 m3/8 6,762 6,762 6,762 | % K 1 # B 35,549 33,385 31,414
1B B K B Kk B m3/B 2,699 3,243 3,285 3 £ OE # B #  abc 3,901 0 48
1B F o8 B Ok B m3/B 3,207 3,159 szl [ |4 & M o A d 178,167 239,780 126,007
1A 1 BT BB OKE % 343 345 346 . 5 & ES 1 73, 200 102, 800 28,700
Mmo# B Ok B m3 1,173,764 1,152,972 1,142,086 | * ® A & 83,102 98,910 93,073
Mo® " I Kk 8 m3 926, 568 919,939 sor,04|m |5 & *x M % e 182,798 230, 748 126,894
x X Kk B m3 10 10 10 [ |3 B B ® B & 99, 696 143, 665 33,043
H x X #H 2 648 648 648 & ¥ @ O ®m o2 2 83,102 87,083 93, 851
i %
- B B #H % 75 75 75 6 R % £ 3 d-e=f A 4,631 9,032 A 887
= i £ A B8 H26. 4. 1 H26. 4.1 Hee. 4. 1| | 7 ® % B = 3 cHf=g A 730 9,032 A 839
" B % BH T B OB X A 2 2 2] 8 i i & h 0 0 0
2 K # ® OB OB X A 0 0 ol s EE» > 08B E i 12,027 11,297 20,329
. E # A 2 2 |10 w &£ E R £ x A S j 0 0 0
) iz E: % 78.9 79.8 79.0] | 11 [ S B g-heizjk 11,297 20,329 19, 490
w B M A = % 47.4 4.7 43|12 BEEICELBT REHE I 0 6,179 0
2l 8 x = E: % 39.9 48.0 8.6 | 13 = B B % k-I=m 11,297 14,150 19, 490
f #" E: % 118.8 97.4 953 |14 % &£ E 8 A £ & F 129,087 130, 146 117,820
g |® K B &£ A B E mYm 12.3 12.0 noll > % £ m g A 2 61,593 62, 430 65, 545
BA #® K% A B A 3,604 3,650 3,572 | 15 R OO®E OB OB bre+ht 313,325 350, 137 239, 443
—-A #* * 2 m3 463, 284 459,970 40,062 16 . H | B # & 1,530, 654 1,546, 371 1,481,219
B my #®wook R M 43,491, 000 43,483,000 42,586,500 (I Z7KE) = EET
B # #®m B M 93.9 94.5 94.4
e | kE #®wok B M 230.6 224.4 228.8
1m3 5 b5 & & & A 38.4 36.3 34.8
Hy 5 b # 5 # M 1.0 15.4 12.2
%A B & # 5 # 7.8 1.9 9.8
R % #h # B 27.2 28.0 27.9
:2:4 Bl Pl 16.0 14.8 17.8
(%) E ) # 1.0 0.9 1.0
# iz * Lt = 103.0 100.0 100.0
l w3 wm om ox k= 62.9 57.8 54.6
ﬁ ¥ 0% kR X H = 93.1 102.5 108.3
z f & % % MO OE 2 136.4 138.5 147.1
[ m A #® 5 & 7 16.3 12.9
¥ 3
Flow = X o A B 40.9 38.4 36.9
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TEL |0556—45—2518 (M) 145
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B4 B 21 % 285 F 294 E 0 ~ * & i A 6, 595 6, 455 6,343
1T B =3 b4 A A 1,116 1,115 1,080 & ’ 2 it I = )'d o 0 0 0
H [} # 7k A B 4,521 4,521 4,521 ® 1% A 4 14,249 15,120 29,194
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